FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
THE GRANADA PAVILION

i

L

B il (BNEE
UL
'- ! -

5 I 0
‘ ﬁﬁl‘ﬁﬁm\'\’ﬂﬁﬁmmﬁ
o] .. i



"Juas sired ay) UO payJew sJaquinu ay) 01 Ydyew 1ou op asayl ‘AJuo 90uaJajal 10} aJe J[qeL Sexog JO JUaJUoy) 8yl Ul S1aquinu 1ued :aloN

sisljey

weag Jooy

o~

sa|buen ]

saoeIg 9aU

suoddng

s150d

‘Alep
M

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

PI1

THE GRANADA PAVILION
www. ForeverRedwood.com



"Juas sired ay) UO payJew sJaquinu ay) 01 Ydyew 1ou op asayl ‘AJuo 90uaJajal 10} aJe J[qeL Sexog JO JUaJuoy) ayl Ul S1aquinu 1ued :aloN

)

A

paJap.o J|
saseg poy ureun)d

17

auedLINH

PUIM 8[BD

prepuels

"paJapUo §|

'Sesed SI0Yduyy auedllnH

10 PUIAA B[S ‘plepuels

o))

pa4ap.o J|
spoy urenn)

sia)ey 0

sa|bueli] o]

pa4ap.o §|
saseq ue Buljie)

Pa4apJo |
sjo0g

spieog 100y

‘Aep
M

‘ON

Buimeaqg

uondiiosag

‘1O

S3X04d 40 LNJLNOD

P| 2

THE GRANADA PAVILION
www.ForeverRedwood.com



'9zIS uo Buipuadap AreA [|Im asempaey JnoA Jo suolsuswiq 810N

i i

"(s1s0d ay 01 Saseq poJ ulennd ayl yoene o)
M3IISXHI8A , %A X9

\ iREE A RSN AR AR RARRRARRRRAR

"(s1e)Jed ay) 01 Saseq uey Buljiao ay) yoene o)
sijod |, ¥ X .. 91/9

.\. e e P e P P P P P

‘(sajbuern ayr 01 saseq uey Buijvd ay) yoene o)
sijjog ,.¢1 X ..8/¢€

I s

“(s1s0d ayy 01 51004 8y} YoeNe 0])
SMBaJ3S X3da(d ,.€ X ..8

‘(sajbuern
3} 01 pue SJ3)JeJ 8y} 0} SPJeoq JO0J 3y} yoene 0])
SMa13S X290 .2 X ..9

"(wreaq ay1 01 Sieyel Jarawiiad ayy yoene o)
s)og Be ..y X ,.9T/5

“(weaq
1001 31 0] SJd)el ay) pue sajbueln ayl yoene o] )
sjjog be1,,9X ..8/¢

‘(suoddns
3y1 01 SJayyed ay) pue sajbuers ay) yoene o)
siog Be1 0T X ..8/¢

‘(s1s0d ayp
01 pue suoddns ayl 01 Sade.q 8auy ayl yoene o)
sijog ,.0T X ..8/€

‘(s1s0d ay1 01 suioddns ayy yoene o)
siogd ... X .8/

‘(s150d 8y 01 sase(Q J0YIUR 3Y) Yyoene 0])
syog Be7 ..€ X ,.9T/5

‘(punoJf ayy 01 Saseq Joydue ay) yoene o)
sjog Joyouy | A € X L%

‘ON

Buimeaq

uondriosag

1S1TT13dVMAYVH

P|3

THE GRANADA PAVILION
www.ForeverRedwood.com



"uas sped ay) Uo payJeuw SJaquinu ayl 0] Yoyeuw Jou op 8sayl “AJuo a2uaJajal 10} a1e BUIMBIQ 8yl Ul SJaquinu 1ied 810N

)

saseg poy ureun)d

17

saseq SI0youy

1))

spoy urennd

saseg ue4 bBulj1e)

sj00g

spJeog Jooy

siayey

weag Jooy

so|buell L

Sa0RIg 99U

suoddng

S1S0d

ON

NOILdId0s3a

- -

A

R

Pl 4

THE GRANADA PAVILION
www.ForeverRedwood.com



NOTE: In order to know where the post needs to be placed, check the numbers on them. If the post is not marked, then place the
single Supports on the ground to locate the markings for each post position and clearly set your bearings. (“Don't attach yet, only
place them on the ground to begin with”).

Step 1: Install the anchor bases (11) with %" X 3 %"" anchor bolts or lag bolts (A). Please see the “How to anchor your pergola
document” for all details. Set your post (1) in the saddle of the anchor bases. Drill a @ ¥4"" hole in the post prior to anchoring to
facilitate the ratcheting of the hardware. After that, use a 5/16™" X 3" lag bolts (B) to attach each post to its respective anchor

base.
! 5/16" X 3 Lag Bolts
____________________ > ‘
[)|
’rNE";ﬁION DIMENSION
DRy IN THE
lNGS DRAWINGS

All options of posts (No posts decorative trim, vertical posts decorative trim and horizontal posts decorative trim)
will be installed in the same way.

Step 2: Attach the supports (2) to the posts with 3/8” x 7°” bolts (C). Each part has a series of numbers that indicate where to
attach the part with the corresponding number

3/8” X 7”7 Bolts

P|5

THE GRANADA PAVILION
www. ForeverRedwood.com



Step 3: Use 3/8” x 10”" bolts (D) to attach the knee braces (3) to the supports and to the posts. Each part has a series of numbers
that indicate where to attach the part with the corresponding number

3/8” X 10" Bolts

Step 4: Attach the triangles (4) to the supports with 3/8"" x 10" lag bolts (E). Each part has a series of numbers that indicate
where to attach the part with the corresponding number

3/8” X 10" Lag Bolts

P| 6
THE GRANADA PAVILION
www. ForeverRedwood.com



Step 5: Place the roof beam (5), into the triangle notches as shown. After that, use 3/8"" x 6" lag bolts (F) to attach the triangles
to the roof beam. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8"" X 6 Lag Bolts

Step 6: Attach the central rafters (6) to the supports with 3/8” x 10”" lag bolts (E) and to the roof beam with 3/8”" x 6" lag bolts
(F). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8"" X 6" Lag Bolts

3/8” X 10" Lag Bolts

P|7
THE GRANADA PAVILION
www. ForeverRedwood.com




Step 7: Attach the perimeter rafters (6) to the supports with 3/8” x 10" lag bolts (E) and to the roof beam with 5/16™" x 4™ lag
bolts (G). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 4" Lag Bolts

3/8”" X 10 Lag Bolts

Step 8: Use 67" x 2°” deck screws (H) to attach the roof boards (7) to the rafters and to the triangles. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

P|8
THE GRANADA PAVILION
www. ForeverRedwood.com



Step 9: Attach the boots (8) to the posts with 8 x 3" deck screws (1).

3" Deck Screw

Step 10: Use 3/8"" x 12" bolts (J) to attach the central ceiling fan base (9) to the central triangle. Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

3/8”7 X 12" Bolts

B

Pl9
THE GRANADA PAVILION
www. ForeverRedwood.com



Step 11: Attach the perimeter ceiling fan bases (9) to the rafters with 5/16™" x 4 %" bolts (K). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

5/16" X 4 %" Bolts

Step 12: Use 6™ x 2 %" deck screws (L) to attach the curtain rod bases (12) to the posts. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

2 Y% Deck Screw

P| 10

THE GRANADA PAVILION
www. ForeverRedwood.com




Step 13: Place the curtain rods (10) on the curtain rod bases.

£ R
= R
RS
o~

b

&

P| 11
THE GRANADA PAVILION
www. ForeverRedwood.com



This completes the Pavilion assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 12
THE GRANADA PAVILION
www. ForeverRedwood.com



